[ number of missing inner layers |

[ number of missing outer layers |

1g - - - - —| Entries 53932 1g - —| Entries 53932
3 . . . . + | Mean 0.02774 E : : | Mean 2.417
r Std Dev 0.1875 B N : Std Dev 2.229
- P I L s L : I
107E Entries 53932 10°E : +Enties 53932
E Mean 0.02774 E : Mean 2.417
L Std Dev 0.1875 o N Std Dev 2.229
] E S A R S S DU PR o I S DU
10 3 Enmes 54149 10 3 . Entries
E Mean 0.02757 E : Mean
3 B Std Dev 0.1869 3 r - Std Dev
10 el Ml M 10 g H s '
o Entries o : Entrie
r Mean r . Mean
_ Std Dev _ N Std Dev
10 4 SRR L RR R RELE RULC e S S S 10 4 SARRRRLRE RLLLLLEE Lt
F Entries F : Entries 54450
L Mean - N Mean 2.422
5| Std Dev. 0.1872 o] MU \..LStd Dev 2.228
10 °E — 10 °E h
orostbnbin b bbb,
g
o
0.95 0.95
0 0. 5 l 1 52 2 5 3 3. 5 4 4. 5 5 0 5 10 15 20 25
— D VECTOT_1000eVT
g D §J| E’ae t
|j —— % |tt 4 ev Loy
mean il === b |t cpe ?C 1000ev:! t
Entries 53932
= 20p A | Ent
o 10°E Mean 7.257
2 E Std Dev 3.636
N i Entries 53932
= 3 Mean 7.257
< 10°g {std Dev 3.636
o Entries 54149
- Mean 7.256
2 Std Dev 3.635
10 -y T
F Entries
r Mean 7
- Std Dev 3.627
: I
10 Entries 54450
F Mean 7.236
L Std Dev. 3.625
AFcc s by Py e Py e Py Jra C 'l N "
o LW T o Lo .
3 g f |
o [ 1+
-1 '“T =30 B8 i
0.95 0.95
=3 -2 -1 0 1 2 3 V 5 10 15 20 25 30 35 40
track n track hits
[ N of reco track vs pT |
Entries 133002 T Entries 108727
Mean 2.164 ' Mean 0.557
Std Dev 6.079 1| : Std Dev 5.602
: I 107 T T i
Entries 133002 Entries 108727
Mean 2.164 : Mean 0.557
Std Dev 6.079 ") H Std Dev 5.602
; T 107 [l SRR P 7 T
: : Entries 133002 F : Entries 109045
: : Lwie:n 2.164 N Mean 0.5584
: : StegDev 6.079 ] IR T Std Dev 5.605
: : H 10°F 7
Entrids 133002 E Entries 109476
_4 N N Mean 2.164 - Mean
107°g Pt AR Std Dev 6.079 (Ol SECEEERRERS e P Sid Dev
C ' ' : | I _E -
B ' ' Entries 133002 " Entries
i . . Mean 2.164 B Mean
Std Dev 6.079 10—5 ............................... Std Dev 5.595




	Contents
	Page 1


